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TR MERNFERE, MBI, FRR T EAFERNE, BeEARREE-EH
IHAYEIE, TASNHELIELN, BEX EEXRSHPATEINELRS, FRLIEMSTHaRBUES
AEREARHENE, REDASH, FRTFRNAGSFHESEETFLN, AFR=FHLRE
AKEEEENRBNEGS, WEBZA—*,

ERABRRB=FFREARSELE, FUARNEMEREN. BAMAXRKRKE, BB
—E—B%S. BASKEGINHMERRE—E.

R

Calculate a+b and output the sum in standard format -- that is, the digits must be separated
nto groups of three by commas (unless there are less than four digits).

Input Specification:

Each input file contains one test case. Each case contains a pair of integers a and b where
00. The numbers are separated by a space.

Output Specification:

For each test case, you should output the sum of a and b in one line. The sum must be written
in the standard format.

Sample Input:

-1000000 9

Sample Output:

-999,991
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B mrkE (P B2 4RI 3 R
FREASI01 00BE M RhREA JavaSahFarY, FRLAR)avaskREMScanner, BRICHIEY
IR ERGIRTRE T, JavaREMAERQIES, XN SIERIN AR T .

BHRERTHL, BEEA)avaBRRREAFIR, ZEBAGESHEC++ES—EBIL—T.

XERHAEREXFR: IBHEMNEREEAFHEE, 2EEMILEF, SHARKEMEET
HIER 1 AEOSEEIRSRIRR, FEHIES.

Javaf{iBunT:

import java.io.*;
public class Main {

public static void main(String[] args) throws IOException {
BufferedReader br=new BufferedReader(new InputStreamReader(System.in));
String st=br.readLine();
String[] nums=st.split(" ");
int a=Integer.parselnt(nums[0]);
int b=Integer.parselnt(nums[1]);
int cza+b;
String str=String.valueOf(c);
int n=str.length();
for(int i=0;i<n;i++) {
System.out.print(str.charAt(i));
if(c<0&&i!'=n-1&8&(n-i-1)%3==0&&:i!=0) {
System.out.print(’,");
}
if(c>0&&(n-i-1)%3==0&&i!=n-1) {
System.out.print(',");
}
}
}

}

EREmRBIEScanner, FTLAFRERAREIEScannerfi&#a5% 7 BufferedReader, [FiZitlavaBEEAR

Scanner, BINSFRIRRIR, E9BufferedReader—RRBEIE—1T, FRLABREIESR—1TZEXEEAspli
BiEESHoEIF. BSETIENRIRMENAGENER, WiEi==0, W AeEmHES, &L
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RER x

1RZEIE wE b HE Lo ¥ P
2020/1/5 12:43:25 EETH 20 1001 Java (openjdk) 109 ms BETER
it i 5] mE

0 ERIER 95 ms 10204 KB

1 = TFH 109 ms 10220 kB

2 22T 92 ms 10220 KB

3 HZTER 92 ms 10280 KB

4 EETEH 98 ms 10184 KB

5 BEIFR 91 ms 10160 KB

6 TR 92 ms 10016 KB

7 HETER 94 ms 10224 KB

8 BERIER 94 ms 9956 KB

9 EEIFH 94 ms 9928 KB

10 2= 103 ms 10196 KB

1 =TT 93 ms 10124 KB

RAFKERHTAMAELZELZRLE, BARRBXNMNETHEREMNFAKE (BRI EMTERT) .
NERBC++E57—IR, BT

#include <iostream>
#include <string>
using namespace std;

int main()
{
int a,b,c,n;
cin>>a>>b;
c=a+b;
string str=to_string(c);
n=str.size();
for(int i=0;i<n;i++){
cout< <strli];
if(c<0&&i!'=n-1&8&(n-i-1)%3==0&&i!=0) {
cout<<'’;
}

if(c>0&&(n-i-1)%3==0&&i!=n-1) {
cout<<',";
}
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}

return O;

}
XERAHBANEI TERAE:

IRATER x
HR3ZRIE HE bog o =] Ri¥ER ¥ 1]
2020/1/5 12:30:23 HRIER 20 1001 C++ (g++) 5ms BEIFE

it BER e AfF

0 B Fi Iims 512 KB
1 EETER 4 ms 376 KB
2 EETFR 5ms 380 KB
3 EEIER 3ms 380 KB
4 BRI 4ms 384 KB
5 ERIFHR 3 ms 384 KB
6 EEIEH 3Ims 384 KB
7 = TEH 3 ms 376 KB
8 SRR 3 ms 364 KB
9 HETHR 3ms 356 KB
10 R TFH 4 ms 384 KB
1 EETFR 3ms 384 KB

EFEL‘)\EEUW&?—‘*DJava’l‘ﬁtb%é?}t%—/l\%t, — T, EEBAKTIE, BRUGEEEACH+kK

EI 1388

M EBE—ECREAET, RERRava =AML, BIBABUEXE:

import java.text.DecimalFormat;

import java.util.Scanner;

public class Main {

public static void main(String[] args) throws IOException {
Scanner in = new Scanner(System.in);

DecimalFormat df = new DecimalFormat("# ###");

while (in.hasNextInt()) {
int a = in.nextInt();
int b = in.nextInt();
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System.out.printin(df.format(a+b));

}

XMNEITHERER T, 0E:

IRTER x
2R s o= HiFE 20 BrR
2020/1/5 12:55:55 EETH 1001 Java (openjdk) 129 ms BEELF=E

Mid= HR #a mEF

0 EETR 123 ms 11420 KB
1 EEZTFH 122 ms 11392 KB
2 ERIEHR 121 ms 11320 KB
3 2R 123 ms 11652 KB
4 ERIEW 115 ms 11268 KB
5 E=TF 120 ms 11424 KB
6 EE=TFH 118 ms 11560 KB
7 HEERIEHE 129 ms 11616 KB
8 E=TFR 118 ms 11384 KB
9 HEETER 118 ms 11620 KB
10 s T 118 ms 11584 KB
11 ER=FH 125 ms 11376 KB
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